Information Theory

 Lecture note1_taken by Ruiqing

1. Definition: 

The Shannon Information Content (SIC) of an outcome with probability
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Ex2: Is it my birthday?
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2. Entropy
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depends only on the probability vector 
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 not on the alphabet 
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3. Information theory answer two fundamental questions in communication theory 

1. What is the ultimate data compression 
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 the entropy 
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2. What is the ultimate transmission rate 
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The entropy of a random variable 
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 with a probability mass function 
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The entropy of a random variable is a lower bound on the average number of bits required to represent the random variable.

Information Theory

 --Lecture note2
1. Joint and Conditional Entropy

--Joint Entropy: 
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--conditional Entropy
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Ex1. 
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Using  
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2. Conditional Entropy – view 1
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Conditional Entropy – view 2

Average Row entropy
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